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1. U SRS 3R Udhel AR & T1Y 10T 97 Uk GOl 3e-aidr oseary, vl alees @t

e &9 & gRafdd sar & / A simple half wave rectifier made with single diode and single
load converts an AC voltage to

(a) Al TR dTAISser dleds /  DC shifted sinusoidal voltage
(b) T¥X 3.4 diecsT / Constant DC voltage

(c) TH T URY S 37 WTHISS & Hae ThRIcHS IT FehRIcHS 3Tem &/
A waveform that has only the positive or the negative half of the input sinusoid

(d) 180 3t =oT TUidRd HspHisser dlecst / 180 degrees phase shifted sinusoidal

voltage

2. 3R T EoTeed & hee 1000 § 3R R Y@@ |y 2mA &, dF Taed uag I a1 &/
If heg of a transistor is 1000 and base current lg is 2mA, what is the value of
collector current Ic.

(@) 100 mA (b) 1000 mA (c) 500 mA ~ (d) 2000 mA

3. fwfaf@d udie @ qgare  / Identify the following symbol

(a) TFH-AR TﬂE. /  XOR gate (b) AR e/ NOR gate
(c)3IX 9c / ORgate (d) T8 JIc / AND gate

4. fArAfaf@d e 1 g &Y/ Identify the following symbol
(a) dr-dsTer #AMEHE /  P-channel MOSFET

(b) UeA-TsTer AMAHE / N-channel MOSFET
Gate —@) (c) druerdr ¢ifsieex / PNP transistor

(d) AU gfelEel / NPN transistor

Source

5. FIH T-yatier TIAYAT g% & o &1F & S Sar & / Class-A amplifier operates over
"~ which region of the characteristic curve
(a) Fe-3iI% / cut-off
(b) 9RYUTAT / Saturation
(c) Y@= / Linear

(d) 31 &7 § |k, 3R 3ferd: wic 3 A/ Partly in active, and partly in cut-off
6. 4096 ST5C HARY &1 33H FXel & [T fvcder 337 ot & ST™ &/ How many address

bits are required to address a 4096 bytes of memory
(a) 14 (b) 13 (€} 1T (d) 12
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7. @1 aRgr =r § / The following circuit is

V. o—J+
n 1= — Vcr)ut

'-J_—‘ Ry R,
(a) =gehiAd watis [ Inverting amplifier

(b) IR =geHfAT @t / Non-inverting amplifier
(c) ¥sT / Adder

(d) fa%es / Differentiator

8. faet aRgy # fdg A aur ﬁg B & &I Ui #T & / The resistance between point A

and point B in the following circuit is
120Q

(a) 40 Q (b) 19 Q (c) 120 (d) 10 Q

9. foe=T gRur # fig A ur féig B & &rer enem @41 § / The capacitance between point A

and point B in the following circuit is

5 uF

10 pF

5 uF

Lo
|

10 pF

B

(a) 5uF (b) 15 uF (c) 10 uF (d) 20 uF

10. 1100110, T &UHT HAJeT FaT & / The decimal equivalent of 1100110, is
(a) 198 (b) 54 (c) 100 (d) 102
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11. .. 7400 FT & / The IC 7400 is
(a) 39-¥FT / Op-amp (b) =g 9Ic / NAND gates
(c) eBAT / Timer (d)&®wY / Buffer

12. 199 g&of $8% SR & / 1 GHzis equal to
(2) 100,000,000 Hz  (b) 10,000,000 Hz  (c) 1,000,000,000 Hz  (d) 1,000,000,000,000 Hz

13. 47 KQ@& TIT W AE &/ The colour code for 47 KQ is
(a) e, slatsil, AR/ Yellow, Violet, Orange
(b) 83T, Sremm, WMol /  Brown, Black, Red
(c) &rem, g, drem /  Blue, Green, Yellow
(d) #rEf, e, &/ Orange, Blue, Green

14. UF UA-TRY HAT FEFeX H /  In an N-type semiconductor
(a) SeloeleT HeusEas Hags & / Electrons are minority carriers
(b) HIeleT Heusedes Taes & / Protons are minority carriers
(c) 8o MO HE&aT & Hags & / Holes are majority carriers
(d) ererer 3iferes HE&aT & Haesh & /  Electrons are majority carriers

15. ST STAS T 39T 5% ToIT 3T ST @aT &/ Zener diode can be used for
(a) wuA. HigelReT / AM modulation
(b) 3== 3mgicaat = fFeex @ & / filtering high frequencies
(c) 31 decst & IRTT & WS o=t &/ protecting from over-voltage
(d) CfFcafreresT / amplification

16. foeAfaf@d aRaer P ggdrel |/ Identify the following circuit

[

(a) STTelere ST /" Darlington pair
(b) 3cEoToh AT/ Emitter follower
(c) TR WSdF yaties / Negative-feedback amplifier

(d) @mEfFeT |/ Thyristor
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17. PFT ARgF e F T H M AT SIS /  The following is also known as universal gate
(a) Ug dI€ / AND gate (b) TeFm-3iT ' / XOR gate
(c) &z A€ / NAND gate (d) 3R AIc / ORgate

18. fATpIeT STATS o 3191-TE2AT T dleca E\fcl'?ﬁTail?Té?l?-lT & / The forward voltage drop of

Silicon diode is around
(a) +0.7V (b) +0.3V (c) -5.0vV (d) +1.0V

19. U& LR 99 & Ife L=1pH, 31K R=1KOhm &, o @& f&Ri&® &I AT FA1 g / In

LR circuit, if L=1pH and R=1KOhm, what is the value of time constant
(a) 1ns (b) 1ps (c)Ims (d) 1ps

20. gﬁwmﬁrmﬁmﬁqﬁaﬁﬂ Jehel ATl dcd,ﬂ?% [ The circuit element

which resists change in current through it by the action of magnetic field is

(a) WfcRIes / Resistor (b) 3af@ex / Capacitor
(c) 38%ex / Inductor (d) EITSEST / Transistor

21. T Fles YHTET elfcorex H, T 3R 3rcarfgent cfiadl & e aTelehdl &l 38 ¢aRl fd3d
arsmarg /  In a Field Effect Transistor, the conductivity between Source and Drain

terminals is controlled by the action of
(a)T== ﬁ@aﬁwm /' Magnetic field in the device

(b)ge # fagga &1/ Electric field in the device
(c)dte faegd ware / Gate current
(d)|Id dreest / Source voltage

22. Ueh dlecATYY & 3TEeT 3Maiies Ufaier fraar gl amfigt / The ideal internal resistance of a
Voltmeter should be
(a)1 KQ (b) 1 mQ (c) 39RfAT /  Infinity (d) e / Zero

23. BITHHIU BICT&IT [FAFTE / The smallest region in a BT is

(a)dqer / Base (b)@amgs / Collector
(c)3cHai® / Emitter (d)"ra / Source

24. 45°-35 @ AT T § / What is the value of 45%—35°
(a) 450 (b) 800 (c) 350 (d) 400
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25. FHESIOT ST H, IR PO x &, IR 3EH U oo y A Ay g oS Fard / na

right triangle, if the length of hypotenuse is x, and of one side is y, what is the length of the
third side

(a)y/x2 — y2 (b) y/x2% + y? (c) y* — x? (d) x* — y?

26. gﬂﬁ?zrmﬁrtp‘r WWQWW?%@W?@?WW% / How many

diodes are required for achieving full-wave rectification in bridge configuration
(a)1 (b) 2 (c)3 (d) 4

27. U.UH. émg,ﬁama‘ai%mzmgaatﬁw% / The circuit suited for AM demodulation is

(a)agﬁqm / Multivibrator (b) TEAT / Timer
(c) CeTdeld EgeF / Envelope detector (d) fem#es / Regulator

28. T AM TR, 39T dTgeh 3TTTA 5V & R Ferer =ér 3mama 2v §, a Argeret s3Fa g -

/" Inan AM circuit, if the carrier amplitude is 5V and message peak amplitude is 2V, what is

the modulation index
(a)2.5 (b) 7 (c) 3 (d) 0.4

29. WLUAINTH ST Aded & / CMOS stands for
(a) HAfafea FeRAT 3iTF WeEee / Capacitive Measurement Of Substrate
(b) FIfFcaATel Acer 3FaEs AfReswer / Complementary Metal Oxide Semiconductor
(c) wifFaeiciie #Hia 3% Werde=d / Combinatorial Mean Of Sequence
(d) sufeier Axfasar ey fAfesrla / Coupling Mechanism Over Silicon

30. CAITUS A FT T / Plug and play means that
(a) STer 39 Feawr mm%a’rmﬁ?ﬂﬁﬂﬂmg IYou can hear music when you switch on
(b) #eT TEaer =Te] el / 3TROT I HLAl AEFISAT & / Device will start working

whenever the mains is switched on

(c) SIS 97T TSI TadTfold & T Ug=Tel AT IR SEAATT &1ar &9 / The added

hardware will be automatically recognized and used

(d) mmm@rsﬁﬁﬂﬁﬂﬂ% / Games software has already been installed

31. Seex &I AT BIOS & T 31 & / In Computer terminology, BIOS stands for
(a) 9 g JETeAgarereTer f¥CH / Basic Input Organizational System
(b) = secgfed 3M3eYe ¥ / Basic Intuitive Output Set
(c) 9ff% geye 3m3eqe REeH / Basic Input Output System
(d) o gs&dr 3RfEr ™ecH / Basic Industry Operating System
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32. I W °H GIhIT &7 F §T H ol & FIE &l § / Which component stores energy
in the form of electric field

(a) 9faRIes / Resistor (b) 85X / Inductor
(c) =SREEX / Thyristor (d) &HIfTeX / Capacitor

33. 2-39¢ UHH-3R A & 4 Foqe GASE A A, R dASE! & ARUTATERT 3T 33T
gred g9/ Out of the 4 input combinations of a 2-input XOR gate, how many of those
combinations will result in a HIGH output

(a)1 (b) 2 (c)3 (d) 4

34, faeT St | @, FleT T A AT IS 3cUeel HEN S HIS W 0F AYC et g /

Among the following gates, which gate will produce a LOW output even if just one of the
inputs is LOW

(a) 3R T / ORgate

(b) s AT / AND gate

(c) o= dIc / NAND gate
(d) TFg-31R A / XOR gate

35. U GYUT Vs A, RE AT E@RT SIS 33T 3cesT @iar & / In a full adder, the SUM output
is produced by which gate
(a) W8 91c / AND gate (b) 3T 9 / OR gate
(c)uFa-3iR AT / XOR gate (d)sfs )¢ / NAND gate

36. 4:5 U & HY U TEHHEIN ARG FoAqe TH. dredsr 1 3AH 10V 8, dF 3m3eqe areest
ST HTATH AT g9 / For a transformer with turns ratio 4:5, if the input AC voltage amplitude is
10V, what is the output voltage amplitude

(a)8Vv (b) 12.5V (c) 10V (d) 20v

37. I weh T & &TAAT 1Ah B, 3R 98 U W@ HR & 37 & S 50mA T &, ar deli e
AT d% AN HT faegd fd #X @1 § / If the capacity of a battery is 1Ah, and if it is

connected to a load which draws 50mA, for how many hours will the battery be able to
provide power to the load
(a)50 &< / 50 hours (b)1®er / 1hour

(c)20 &< / 20 hours (d) 500 &€ / 500 hours

38. UH 37ee TS Yag ET & UH glar &/ An ideal constant current source has
(a) =T HAR® GfAWY /  Zero internal resistance
(b) 3aRfFa 3maRke 9feRr /  Infinite internal resistance
(c) 3aRfAT 3aRke emar /  Infinite internal capacitance
(d) 39RAT 3TaE sesa¢aa / Infinite internal inductance
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39. forE ST # GACT SiTe &1 39T 3T S @hal &/ Parity check can be used for checking
(a) 2reg & 3R/ Word size (b) foe &r @I/ Bit count
(c) T T / Bitrate (d)fse g/ / Biterrors

40. 100pF =T T FURAY IfY 10V T 3RT B &, &) FiR¥e & goika 3y Faer
& / A capacitor of 100uF is charged to a voltage of 10V. What is the charge stored in the
capacitor

(a) 10puC (b) 1 mC () 0.1 uC (d) 100 mC

41. foeT Sosll # & Sl & eTad IfaRiere arerm & / Which of the following bulbs will have
the least resistance
(a) 200V, 50 W (b) 200V, 100W  (c) 100V, 50 W (d) 100V, 100 W

42. YRS & quT A9 g e 9gfar @1 3uaier fRar S Wehdr &/ Which method can be
used for absolute measurement of resistances
(a) 3Merw fT® ggfd / Ohm's law method
(b) et fosr wgfar / Wheatstone bridge method
(c) ¥=er ugfd / Rayleigh method
(d) Fere ggfd / Coulomb method

43. fawst aRay &, i gae 1, 1A €, o feg A @1 B & i @ aledsl gem / Inthe
following circuit, if the current Iy is 1A, what is the voltage across points A and B
10 Q
: s 100
A B
] (™ 50

(a) 40V (b) 10V (c) 20V (d) 30V

44. T vor . 9wy #, ARG e @ AW 100uH &, dur enfar 10nF &, & ag 3mgfea s
gl fore ox 9aR™er arels g9/ In a LC circuit, if the value of inductance is 100uH, and of

capacitance is 10nF, what is the frequency at which the circuit oscillates
(a) 100 Hz (b) 1 MHz (c) 1/(200m) Hz (d) 1/(2m) MHz

45. T R-gelsee RAlaT #, 9 smaeze 3msuw 3mgfed 455 KHz ¥, @2 saqe g
1,215 KHz &, @ TaI3 3ngfea & gt @@/ In a super-heterodyne receiver, if the

required IF frequency is 455 KHz, and the input frequency is 1,215 KHz, what should be the
LO frequency

(a) 1215kHzor455kHz  (b) 1670 kHz or 760 kHz (c) 1 MHz (d) 91 MHz

46. 3eTel FaTeldIcHs WFAfAHRR $T saqe wfafkar #=ar &/ The input impedance of an
ideal operational amplifier is

(a)’= / Zero (b) 39RfAT / Infinity (c) %7 / Low (d) 3= / High
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47. @i @ T & HeR & @A F I7aR diecst V dor ya® | & & T&U § / In which

figure the relationship between voltage V and current | is in accordance with Ohm's law

I !
(a) & A/ Figure A
(b) f&= B/ FigureB
(c) =¥ C/FigureC — v . S
(d) = D/FigureD 0 v
w @)
! I
A
) Y o] v
© (D)

48, ART & Tra WY #F effid e F T AWG F&ar &1 3931er forar arar & / AWG
number is used for representing what parameter of wires

(a)wfciereR / Resistance (b) 8&¢=T / Inductance
(c) emyar / Capacitance (d) =g / Diameter

49. HIE-8RE deadr & / Photo-diode converts
(a) wehrer & faegd wate # / Light to electrical current
(b) dlecsT & ehrer / Voltage to light
(c) warg & wehrer / Current to light
(d) genrer & aTfar /Light to capacitance

50. 50 Hz dTdlefelel & HET HYfcd & 3 Th TRUY #, diedsl H HRTATH AW 240V IR AR

FT sFUSTT 1KQ &, df waTg & @IS T AT &7 8191 / In a circuit connected to 50 Hz AC
main supply, the RMS value of voltage is 240V. The impedance of the load is 1KQ. What is

the peak value of the current?
(a) 240 mA (b) 240/v/2 mA (c) 2402 mA (d) 480 mA

51. U Sirg 3UER0T St foh BefAISse, TR, TSR 3T Ai-c aiered 3d% et T &Team
W §, 30 &7 Fgd & / Atest equipment which has the ability to produce either sine,
square, triangular, or saw-tooth waveforms is called

(a) Ufshar Seex / Function generator

(b) T 3mgfcd Seex / Radio frequency generator
(c) 3iifsar 3mgfed Sfeivex / Audio frequency generator
(d) 3mgfea AT / Frequency meter
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52.%3&@%3&%%3&%%3@3@@%% / For an inductor,

the ratio of its inductive reactance to resistance is called its

(a) sFUS=F / Impedance (b) Fg-thereX / Q-factor
(c) 3fefshu«T 3gfce / Resonant frequency (d) TeTehdT / Conductivity

53. 3MeA-#eT & W T HTS ST F ST Fha &ar ¥/ Testing a good diode with an
ohmmeter should indicate

(a)3Ta  gfRIEeh e 3197 37 faudia 3ifdea o gar & / High resistance when forward or
reverse biased

(b)fee=T gfeRia® S19 3rar 3T fA9da 3@ & g1 &/ Low resistance when forward or
reverse biased

(c) i 3T & 3o wfokius aor 3w 31f@a & et 9feRess / High resistance when
reverse biased and low resistance when forward biased

(d) 3 31T # 3ew gfatas g1 Rudd 3@ & o=t 9faes / High resistance when

forward biased and low resistance when reverse biased

54. v A faeyd varg e oiita 7€ fRar o @ear & / A DC. Current cannot pass
through
(a) *af¥ex / Capacitor (b) ufeRiers / Resistor
(c) s=2%eX /Inductor (d) 3ART-31fAeTT 3RS / Forward-biased diode

55. 39FT H HOMcHF JATTa2r T 39417 / In an op-amp, the use of negative feedback
(a) @fs¥r &r serar & / Increases gain (b) FERRAT T FETaT & / Increases stability
(c) TEURET &I %# FXar & / Decreases stability
(d) areleT 3cde< &aT & / Creates oscillations

56. dl @ Bl F7 & FIEHT IM3TYe 0 & Fac 9 366 @X sA9e 1§ / What is the logic
function whose output is 0 only when all its inputs are 1s
(a) ==& / NAND (b) 7T / NOR (c) TFH-31R / XOR (d) 3R / OR

57. GHET TEIT 256 H g & fw fhaer e @1RT / How many bits are required to
represent the decimal number 256
(a)11 (b) 12 (c)8 (d)9

58. U SLELEL. H3eT H ITaad Aetdr Far & / What is the highest count of a BCD counter
(a) 1111 (b) 1100 ' (c)1010 (d)1001

59. UF HId-WS &l Tel3.31. Becel & uds @s 7 3nyfdd 5mA &1 0 & 9 et & faw
HUHaH Td FAdH JaE & T FI7 A &/ When a seven-segment LED display is driven

each segment draws about 5 mA from the supply. What is the difference between the
maximum and minimum current drawn for the numbers from 0 to 9?

(a)5 mA (b) 25 mA (c) 20 mA (d) 50 mA

’
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60. T H & @l @7 3S.d). gar 3% § / Which of the following is a valid IP address
(a)192.168.234.123 (b) 192:168:234:123
(c)345:456:123:90 (d) 345.456.123.90

61. AB + AB + B @ §forT TSR0 47 & / Boolean simplification of AB + AB + B is
(a)o (b) 1 (c) B (d) A

62. TUET TH.UH, AT Argfed ra d5 # § / Local FM radio frequency is in which band
(a) TH.UW. /| MF (b) @.TATE /VLF (c) .UT.U% EHF (d) @.u=r.TF / VHF

63. ar faffest egex casl @ Sisa & fAv v 3uetor &1 3uier faam Sirar &/ Which
device is used for connecting 2 different computer networks

(a)fEa=@ / Switch (b) 3T / Router (c) Ta.3me.dr /NIC (d) #a12d / Modem

64. TA.UH. a8 H TG R T THFEC P AT H & hA G Fholl H I9AT AT TG § /

Which short-cut key is used for copying the selected text in MS Word
(a)Ctrl-C (b) Ctrl-V (c) Shift-C (d) Shift-v

65. 8051 &aT § / 8051 isa
(a) 8-fec ATZHI-YRATET / 8-bit micro-processor
(b)8-TsT #AEHI-Felerk / 8-bit micro-controller
(c) 16-fee AZH-IRATAT / 16-bit micro-processor
(d)16 fae #AEHR-FHereR / 16-bit micro-controller

66. TEABIAT HT IUAT AT AT FhaT & / Transformer can be used for
(a) ST alecst ¥¢9 813+ / DC voltage step-down
(b) 3R drecsr ¥EU-319 / DC voltage step-up
(c) wE ateesT TEU-313a7 / AC voltage step-down
(d) Srfr & =it gR@der / DC-to-DC conversion

67. WE-UH 5T YR T TIGOT 39T § / CD-ROM is which type of storage device
(a)werer / Flash (b) 3iifeeher / Optical
(c) gk / Magnetic (d) BfFssaeY / Semiconductor

68. ULEY. I ST ¥ Siigel & AU &y welere 1 HDHTT 3UART AT ST & / Which

connector is widely used for connecting PC to Internet
(a) T.uH.dl. €BY-T FHalded / USB Type-A connector
(b) Wr.ud. /2 fBA-E3MSUA FdgeX /  PS/2 mini-DIN connector
(c) RS 45 FAdeX / RI45 connector
(d) 3R.TH. 232 9-Fa 3 et / RS232 9-pin D connector
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69. R TN hegfereherd & fow frg sifadhr aear &7 3qaier BFar ST &/ What is the
physical phenomenon which is exploited for fibre optic communlcatlon

(a) sotaglad Ao / Electron tunnelling

(b) el 3MARF Wrac= / Total internal reflection
(c) wIeI-faegd wema / Photo-electric effect

(d) 9R@ATT 3o/ Quantum entanglement

70. IfE U TS aaT fr 3afr 1 ms &, o 3&hr 3mgfed @#aT &/ If a sine wave has a period of

1 ms, what is the frequency
(a) 10 MHz (b) 1 MHz (c) 1 KHz (d) 10 KHz

71. v faegd mqfel Werex #, orsa P (YFgerereT) @ &7 37 € / In a power supply
regulator, what is meant by line regulation
(a) (3M3eYe dlecst # IRede) / (3I9C dleeer 3 qRadd)
(Change in output voltage) / (Change in input voltage)
(b) (3579c dlees & Rade) / (3m3eqe deest & gRadH)
(Change in input voltage) / (Change in output voltage)
(c) (3m3eYe dlees) / (3e1qe alecs)
(Output voltage) / (Input voltage)
(d) (5779e deest) / (3m3eye alecs)
(Input voltage) / (Output voltage)

72. ARINT.TI.TH HT 37 ¥ / ROHS stands for
(a) del 3= T & UeaT / Read Only High Speed
(b) ®Mdes uereif W ufdstr / Restriction Of Hazardous Substances

c) HIMET FHael ardT AfAHsFX / Random Only Heated Semiconductor
(d) sheRfge 31aoT arT eficg / Rapid Omission Heat Shield

73.ﬁmmﬁ,§gﬁmsvsﬁm§|ﬂ@w:§mlﬁmw% / Inthe

below circuit, the diode used is 5V Zener. What is the value of the current [ in the main

circuit
§15 KQ

74. IS HiesRaT & fow @@, a5 & R & ufderd +4r g Normally, for good
soldering, the percentage of Tin to Lead should be
(a) 63:37 (b) 50:50 (c) 40:60 (d) 97:3

5KQ

(@) 2mA
(b) 5A

(c) 1mA
(d) 500 mA
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75. z{\.tﬁ.@ & gAY "< FAT & / What are the main components of a UPS
(a) UBREET & d1¢ 89T / Thyristor followed by Integrator
(b) eFEFeX & o1g watis / Transistor followed by Amplifier
(c) YFeHRR & a1 g+a<< / Rectifier followed by Inverter
(d) R¥es & ag ewgweR / Differentiator followed by Transformer

76. ST USl.ELAN 9T Uehrel AT §, a9 38 Ifaer U &7 T 92dm & / when light falls
on LDR, its resistance
(a) Scolar =1ar & / Doesn’t change
(b) &&dr & / Increases
(c) 3R & «odr &, d27 & &idr § / Initially increases, and then decreases
(d) @ 8T & / Decreases

77. T 250 AR @ 39 &l & T 10V H TTHAT e [oT, fhdsr &THTT &7 glar

IIgT / For a 25 Q resistor to withstand 10V across its terminals, what should be its power

rating
(a) %W (b) » W (c)1w (d)4w

78. 3PN RAT 1000 9iRIEER &7 @Al @1 WA &, df 38 3NfEa wfades A &1 I

Far & / Fora 100Q resistor, the tolerance colour is Gold, then what is the range of

resistance values expected of the resistor
(a) 99-101 (b) 90— 110 (c) 95 — 105 (d) 80-120

79. faega amqfd e ox oot & @ i @ AA 3196l aeur T FAOT AT T HebelT § /
Which of the following memories can’t retain its contents upon removal of power supply
(a) wH.EIH / SDRAM (b) Ferer / Flash

(c) Ieehrr HaTEWT / Magnetic storage (d) .39t / EEPROM

80. 38 ¥ frgepr uré T&ar 741 & / 741is a part number for
(a)3TaTs / Diode (b) T 9. v @ifedEeX / NPN Transistor
(c)UwEE [ FET (d) 3fg-T#T / Op-amp
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